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QUESTION 1

Click the Exhibit button. Exhibit: 

Which type of cloud system is shown in the exhibit? 

A. cloud storage 

B. cloud management 

C. cloud telemetry 

D. cloud security 

Correct Answer: C 

 

QUESTION 2

A customer wants to provide advanced Layer 4 through Layer 7 security services for a VMware NSX 

microsegementation deployment. 

Which platform would you recommend using in this scenario? 

A. ACX Series 

B. vMX Series 

C. vSRX Series 

D. QFX Series 

Correct Answer: C 
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QUESTION 3

A customer wants to deploy a complicated service and needs complete control of all applications, servers, 

and server operating systems. 

Which type of service should the customer purchase in this scenario? 

A. FWaaS 

B. SaaS 

C. PaaS 

D. IaaS 

Correct Answer: D 

 

QUESTION 4

Which two Juniper NFV products would be used to provide IPsec VPN termination between a public cloud provider and
your network? (Choose two) 

A. vQFX 

B. vSRX 

C. vMX 

D. vRR 

Correct Answer: BC 

 

QUESTION 5

What are two benefits of cloud automation? (Choose two) 

A. It simplifies network operations that involve complex configurations 

B. It reduces the number of network components 

C. It performs repeatable tasks 

D. It eliminates all operational configuration errors 

Correct Answer: AC 
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